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Question Number : 1 Question Id : 3475351 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who was the first group leader of Rudri Nawagaon movement of 19307

Options:
1 % Pt Sundarlal Sharma

-~ » Narayan Rao Meghawale
5 % Shyamlal Som

4 « Babu Chhotelal Shrivastava

c % None of the other options

Question Number : 1 Question Id : 3475351 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 2 Question Id : 3475352 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
In 1933, Gandhi ji started second journey of Chhattisgarh in which month?

Options:
| % January

> % December
= « November

4 % August

= % September

Question Number : 2 Question Id : 3475352 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 3 Question Id : 3475353 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which party was established in Khairagarh in 19387

Options:

1 % Prakhar Prahari

-~ % Chani mouni party
- » Jagrit party

4 « SevaDal

= » None of the other options



Question Number : 3 Question Id : 3475353 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 4 Question Id : 3475354 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was the founder of Vanar sena in Bilaspur?

Options:

1 % Diwakar karlikar

> o Vasudev Devras

- » Krantikumar Bhartiya
4 ® Gajadhar Sao

= % None of the other options

Question Number : 4 Question Id : 3475354 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 5 Question Id : 3475355 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



In July 1946. the following leaders from Chhattisgarh (khalsa) were elected for Constituent Assembly of India:

Pt Ravishankar Shukla
Ghansyam Sing Gupta

Pt Kishori Mohan Tripathi
4. Thakur Chhedilal
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Question Number : 5 Question Id : 3475355 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 6 Question Id : 3475356 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who of the following was the only representative of Chhattisgarh in the Bombay session of Indian
National Congress in 18897

Options:
L% Madhav Rao Sapre

> « Waman Rao Lakhe

- % Narayan Rao Meghawale

4 % Yadav Rao Tamaskar

= % None of the other options



Question Number : 6 Question Id : 3475356 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 7 Question Id : 3475357 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following was the first superintendent appointed in Chhattisgarh under the British

protection over the Bhonsle Kingdom of Nagpur?
Options:
1 Captain Edmund

5 % Major P. Vans Agnew
- % Captain Hunter
% Major Sandis

= » None of the other options

Question Number : 7 Question Id : 3475357 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 8 Question Id : 3475358 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



In which district does the Surahi river flow?
Options:
1 % Kawardha

-  Rajnandgaon

z % Mahasamund
4 % Kanker

= % None of the other options

Question Number : 8 Question Id : 3475358 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 9 Question Id : 3475359 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to the census of 2011. what is the population density of the Chhattisgarh state?

Options:
, % 198

o> o 189
5 % 208
4 % 179

= » None of the other options

Question Number : 9 Question Id : 3475359 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 10 Question Id : 34753510 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

The highest waterfall of Chhattisgarh is situated in:
Options:

1 ®% Sukma

-  Jagdalpur

= % DBastar
4 = Koriya

= » None of the other options

Question Number : 10 Question Id : 34753510 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 11 Question Id : 34753511 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Chhattisgarh. which district has smallest number of development blocks?

Options:
1 % Dhamtari

-  Narayanpur
o % Durg
4 % Mungeli

= » None of the other options

Question Number : 11 Question Id : 34753511 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 12 Question Id : 34753512 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is known as mini Tibbet?

Options:
, % Samaripat

-  Mainpat

- % Jashpurpat

4 w Jarangpat

= % None of the other options

Question Number : 12 Question Id : 34753512 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 13 Question Id : 34753513 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
At which of the following place Mama-Bhanja temple is situated?

Options:
 » Ratanpur

5 % Sirpur
= « DBarsoor

4 % Shiwarinarayan



= % None of the other options

Question Number : 13 Question Id : 34753513 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 14 Question Id : 34753514 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following. which type of climate Chhattisgarh has?

Options:
1 ® Hot

- % Moist
= « Hot and moist
4 ® VeIy dry

= % None of the other options

Question Number : 14 Question Id : 34753514 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 15 Question Id : 34753515 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the writer of the Chhattisgarhi novel “Diyana Ke Anjor™?



Options:
1 « Shiv Shankar Shukla

- % Pardeshi Ram Verma
3 # J. R. Soni

4 % Narayan Lal Parmar

= % None of the other options

Question Number : 15 Question Id : 34753515 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 16 Question Id : 34753516 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘When does the “Sua Dance™ perform?

Options:
1 ® Holi

> % Pola

% % Dashahara

» Dipawali

= % None of the other options

Question Number : 16 Question Id : 34753516 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 17 Question Id : 34753517 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

What is “Birya Dhol” (Mandar) of Bastar?
Options:
, % Ghan vadya (Idiophonic instrument)

- % Sushir vadya (Wind instrument)

-  Avanaddha vadya (Instrument covered with membrane)
4 % lat vadya (String instrument)

= % None of the other options

Question Number : 17 Question Id : 34753517 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 18 Question Id : 34753518 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is “Gadhawa” shilpkar (Bell metal artist)?
Options:
| « Jaidev Baghel

> % Govind Ram Nirmalkar
- % Jhadoo Ram Dewangan
4 % Shrinivas Vishwakarama
= » None of the other options

Question Number : 18 Question Id : 34753518 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 19 Question Id : 34753519 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where is the “Chandradityeshwar™ temple located?

Options:

| % Ratanpur

5 w Sirpur

= « Barsoor

4 % Tala

= % None of the other options

Question Number : 19 Question Id : 34753519 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 20 Question Id : 34753520 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following. which is not a scheduled tribe?

Options:
1 ®% Muria
- % Oraon

- % Majhawar

4 « Mallah



= % None of the other options

Question Number : 20 Question Id : 34753520 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 21 Question Id : 34753521 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who speaks “Kui Dialect™?

Options:
« Kondh

% Kamar

=

Korwa

e HL B
#

% Kanwar

= » None of the other options

Question Number : 21 Question Id : 34753521 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 22 Question Id : 34753522 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who make “Basketry” among the following scheduled tribe?

Options:



1 % Oraon
« Nagesia

« Kandra

L]

% Kanwar

e

% None of the other options

Question Number : 22 Question Id : 34753522 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 2 Wrong : 1
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Question Number : 23 Question Id : 34753523 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

What stand for “Parad™ of scheduled tribes of Bastar?
Options:

1 % Hill

» % Marriage
» Hunting
4 % Festival
% None of the other options

Question Number : 23 Question Id : 34753523 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 24 Question Id : 34753524 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
When is “Mati Tihar™ (Earth Festival) celebrated at Bastar?

Options:
1 « Chaitra

- % Ashadh
- % Bhado
4 % Kartik
= % None of the other options

Question Number : 24 Question Id : 34753524 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 25 Question Id : 34753525 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following scheduled tribe. who make “Hanal gatta™ (Memorial Pillar)?

Options:
1 ®% Kamar

-~ % Binjhwar

3z % Maina

4 +« Madia

= % None of the other options

Question Number : 25 Question Id : 34753525 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 26 Question Id : 34753526 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Out of the following scheduled tribes. who celebrate “Karma™ festival?

Options:

1 % Muria

> % Gadaba

= « Oraon

4 % Bhatara

= » None of the other options

Question Number : 26 Question Id : 34753526 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 27 Question Id : 34753527 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
What was the state gross domestic product of Chhattisgarh state for year 2013-14 at current prices?

Options:
1 #% Rs221756.85 crore

~ % Rs221776.35 crore
= o RS 185682.48 crore
4 % Rs 185987.39 crore

= % None of the other options

Question Number : 27 Question Id : 34753527 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 28 Question Id : 34753528 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
On which river Saradih barrage is constructed?

Options:
1 % Shivnath

> % Jonk

= « Mahanadi

4 % Kelo

= % None of the other options

Question Number : 28 Question Id : 34753528 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 29 Question Id : 34753529 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Suraj Dhara Scheme is related to which of the following in Chhattisgarh state?
Options:

1 % Production of Sunflower

5 of Exchange of seeds scheme

- » Bio-gas plant



4 % Production of mustard

= % None of the other options

Question Number : 29 Question Id : 34753529 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 30 Question Id : 34753530 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many forest project divisions are constituted in Chhattisgarh state?

Options:
1. 09

> % 34
z % 24
4. 07
= % None of the other options

Question Number : 30 Question Id : 34753530 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 31 Question Id : 34753531 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Soyabean crop. which is produced in Chhattisgarh state, is basically crop of which country?



Options:
| % Japan

> #% Pakistan
- = Nepal
4 « China

= » None of the other options

Question Number : 31 Question Id : 34753531 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 32 Question Id : 34753532 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which sector has estimated highest growth rate in Chhattisgarh for the year 2014-15 at constant prices?

Options:
, = Forestry

> o Storage

5 % Community & Personnel services

, » Banking

= % None of the other options

Question Number : 32 Question Id : 34753532 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 33 Question Id : 34753533 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who become the chairman of General Administration Committee of Janpad Panchayat?
Options:
, « President of Janpad Panchayat

- % vice President of Janpad Panchayat
- % Member elected by Janpad Panchayat
4 ® Member nominated by President of Janpad Panchayat

= % None of the other options

Question Number : 33 Question Id : 34753533 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

FA9¢ T9AT T GHT TATHS HiATST T GHET ST gar 27

Options:
| » UG TETIA T HETET

. » AAIE TIAIT FT IICTET

L % SIE TEREE ERT fERE e
, % SIS TEEE HETE SIART AAlAT HEET
. x 30 TFedl H ¥ FE A

Question Number : 34 Question Id : 34753534 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Match the address of resignation:

L Panch A. Deputy Director (Panchayat)
II. Member Janpad/Zila B. Collector/Addl. Collector
Panchayat
IMI. Sarpanch C. President
IV. President Zila panchayat D. Sarpanch
V.  President Janpad Panchayat E. Divisional Commissioner/Additional
Commissioner
Options:

1 % I-FAIV-BII-C,II-D,V-E
- x I-ATM-B,V-CI-DIV-E
2 % Y-AI-BI-CIV-DII-E



g4 o M—ANV-BI-CI-DIV-E
c % I-A,I-B,V-CIV-D.III-E

Question Number : 34 Question Id : 34753534 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

SETIT H Hearad Fr Eﬂﬁﬂ' FIAT:

. 9= A.3T I (TETES)
. FFue/fFearT=ag geE B. Folde/aea Foiaet
. &= C.37eTeT
V. 3Feget fHem J=maa D. &=
V. 3eTeT F9S T=Id E. 91T e/ 31 3mgad
Options:
& l-AIN-B ll-Cll-DV-E
wog =B W=B,Y~-E l-D W-E
% V-All-B 1-C IV-D, Il - E
i P i -A v-B1I-C, |-D,IV-E
cwll-A1-B,V-C IV-D, Il -E

Question Number : 35 Question Id : 34753535 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is correct about the security deposit for candidates contesting Panchayat election?

L Rs 40/- for Panch candidate
II.  Rs25/- for Panch women candidate
III. Rs 400/~ for Sarpanch candidate
IV. Rs 100/- for Sarpanch schedule tribe candidate
V.  Rs 500/- for member Janpad Panchayat candidate
VI.  Rs 200/- for member Janpad Panchayat schedule caste candidate
VII. Rs 1500/~ for member Zila Panchayat
VIII. Rs 500/- for member Zila Panchayat OBC candidate
Options:
, = L IL V, VII

, % IL IV, VI, VII
z % L IIL VI, VI
4 LIV, V, VIO

= % None of the other options

Question Number : 35 Question Id : 34753535 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct: 2 Wrong: 1
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VIII. forar 9=mag ge=T 3fa9 3598ear & ™T & 500/-
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Question Number : 36 Question Id : 34753536 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is incorrect in the context of functions of Janpad Panchayat?

Options:
, w Integrated Rural Development

> % Tomanage Public markets & public melas
» Prepare annual plans for economic development and social justice
4 % Toprovide emergency relief from natural disaster

= % None of the other options

Question Number : 36 Question Id : 34753536 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 37 Question Id : 34753537 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
The salary and allowances to the members of Council of Ministers of the state is being given by:

Options:
1 % Reserve Bank of India

5  OState Treasury

- % Contingency fund of the sate

4 % Consolidated fund of the sate

= % None of the other options

Question Number : 37 Question Id : 34753537 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 38 Question Id : 34753538 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the administrative head of Chhattisgarh Rural Development Department?

Options:
| « Vikas Ayukta

> % Chief Executive Officer
= = Dy. Ayukta Vikas
4 % Chief Secretary

= % None of the other options

Question Number : 38 Question Id : 34753538 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 39 Question Id : 34753539 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

When was BALCO established?
Options:

1 o 24 Nov. 1965

5 ® 24 Nov. 1966
z ® 24 Nov. 1967
4 % 24 Nov. 1968

= % None of the other options

Question Number : 39 Question Id : 34753539 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

BALCO &1 9T & T 1ad?
Options:
, v 24 FIFET 1965

, % 24 FEFET 1966
. % 24 FEFET 1967
, % 24 FFFaT 1968

. x 3T TFedl H ¥ FE A

Question Number : 40 Question Id : 34753540 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where marble is found in Chhattisgarh?

Options:
1 « DBastar

- % Sarguja

- % Raipur



4 % Durg

= » None of the other options

Question Number : 40 Question Id : 34753540 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 41 Question Id : 34753541 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where the first sugarcane industry in Chhattisgarh was established?

Options:
1 « Kawardha

» # Koriya
- = Raipur
4 % Durg

= % None of the other options

Question Number : 41 Question Id : 34753541 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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T
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Question Number : 42 Question Id : 34753542 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



In which of the following places in Chhattisgarh. hydro-power project does not exist?
Options:
1 « Dudhawa

-~ % Hasdev-Bango

- » Gangrel
4 % Pairi Sikasar

= » None of the other options

Question Number : 42 Question Id : 34753542 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Searmee # ARl & ¥ e rue W seEegg RS @ a2

Options:

1.»-«*’%%

o » FHST T

2 % TS

4 % 3fr e
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Question Number : 43 Question Id : 34753543 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Asia’s biggest Tamarind market is at:
Options:

1 % Kanker

-~ % Konta

z % Sukma

» Jagdalpur

= » None of the other options

Question Number : 43 Question Id : 34753543 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 44 Question Id : 34753544 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which district of Chhattisgarh. the Dagori Industrial Center is situated?

Options:

, w» Raigarh

> % Mahasmund
» Bilaspur

4 % DBastar

= » None of the other options

Question Number : 44 Question Id : 34753544 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

oadEee F e e 7 gl deaes g Tua g7
Options:
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Question Number : 45 Question Id : 34753545 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which is the computer based teaching scheme for schools?

Options:
o LT

5 % CST,
S8 goe
4 % CTP

= % None of the other options

Question Number : 45 Question Id : 34753545 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 46 Question Id : 34753546 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is provided free of cost under ‘Saraswati’ scheme?

Options:
1 % Books

- % Uniform

Bicycle

L]
S

g

4 % Insurance
= % None of the other options

Question Number : 46 Question Id : 34753546 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
TIEEaY AT H A= § @ Fm foreee warer foRam Srar 2

Options:
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Question Number : 47 Question Id : 34753547 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is the duration of Grant Programme of European commission for support to school education in the state?

Options:
, % 2007 —2016

> % 2008 —2016
5 % 2009 —2016
4 % 2010—2016



=  None of the other options

Question Number : 47 Question Id : 34753547 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

mﬁ'lﬂﬁﬂ'ﬁ?ﬁﬁm?@rwmm#aﬂgqm FIFET Fr 3T T AT FIE?

Options:

, % 2007 - 2016
., % 2008 - 2016
. = 2009 - 2016
. % 2010 - 2016

. v ¥ fawedl 7 ¥ Fg A&

Question Number : 48 Question Id : 34753548 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Padmashree awardee artist Mamta Chandrakar works in which institution?
Options:

1 « All India Radio

- % Doordarshan
5 u College
4 = Culture dept.

= % None of the other options

Question Number : 48 Question Id : 34753548 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 49 Question Id : 34753549 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
From which district the Rurban mission was started in Chhattisgarh?

Options:



» Raipur

» Rajnandgaon
% Bilaspur

4 % Kabirdham

% None of the other options

Question Number : 49 Question Id : 34753549 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 50 Question Id : 34753550 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

‘When the eye donation fortnight organised every year in the Chhattisgarh?
Options:

1w 25 August to 8 September
5 % 1 May to 15 May

= % 15 June to 30 June

4 % 25 October to 8 November

= % None of the other options

Question Number : 50 Question Id : 34753550 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Group All Questions: No

Question Number : 51 Question Id : 34753551 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Critical edition of the Mahabharata was prepared by which of the following institution?
Options:

Bhandarkar Oriental Research Institute, Pune

S

1.

-~ % Deccan College Post-graduate and Research Institute. Pune
- w Gita Press. Gorakhpur
4 % Oriental Institute, Baroda

= » Oriental Research Institute. Mysore

Question Number : 51 Question Id : 34753551 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
FETART FT Fgcaqu TERUT HATI@a & & 0 98y @R dar f&Rar 7= g2

Options:
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Question Number : 52 Question Id : 34753552 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct: 2 Wrong: 1
Prabandha-Chintamani of Merutunga focuses on which of the following dynasty?

Options:
1 % Western Ganga

-~ % Chalukyas of Vengi

- % Chalukyas of Vatapi

4  Chalukyas of Kalyani

= % Chalukyas of Gujarat

Question Number : 52 Question Id : 34753552 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 53 Question Id : 34753553 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about settlement pattern of Harappan civilization:
1. Harappan sites varied a great deal in size and functions.
2. There is no strict correlation between the level of planning and the size of a settlement.
3. Roads in the Harappan cities were always absolutely straight and crossed one another at right angles.
Which of the above statements is/are true?
Options:

; % Onlyl

- % Only3
3 o land 2
4 % land3
5 % 2and3

Question Number : 53 Question Id : 34753553 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 54 Question Id : 34753554 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following statements about the origin of Harappan civilization is not true?
Options:

1.9

John Marshall asserted that Indus civilization must have had a long antecedent history in central Asian steppes.
2.

According to E.J.H. Mackay. a migration of people from Sumer (southern Mesopotamia) may have led to the
Harappan civilization.
>N

Mortimer Wheeler argued for a migration of Ideas and not people — the idea of civilization was in the air of West Asia
and the founders of Harappan civilization had a model of civilization before them.
4 #

Amlananda Ghosh was the first archaeologist to identify similarities between a pre-Harappan culture and the mature
Harappan culture.
c &

M. R. Mughal argued that ‘pre-Harappan’ phase actually represented the early. formative phase of the Harappan culture
and that the term ‘pre-Harappan® should therefore be replaced by ‘early Harappan’.

Question Number : 54 Question Id : 34753554 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 55 Question Id : 34753555 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about early Vedic period:
1. Vidarha was the gathering in which. among other things. the booty acquired in a raid was distributed.
2. Raja was entitled to a portion of the booty from successiul cattle-raids.
3. Raja would claim larger share in booty which was known as Bali.
Which of the above statements is/are not true?

Options:

1 ® land?2
> % 2and3
5 % land3

4 % Onlyl

c  Only3

Question Number : 55 Question Id : 34753555 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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1. fAger v T w1 off TEH, 3w A= & 3oRE, 99 7 gfte 9 & A @
SeanT foRar Srar o
2. 757 T AGM-umEr & g G F AT + U GEH & gwER Tl
3. 777 ¥ % A & §3 [TFH FT IET T o 5§67 FHer SAar o7
IRFT FAAT H § PIAA/H FAA HHL 8/27?

Options:
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Question Number : 56 Question Id : 34753556 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following pairs (name of the professional described in Vajasnevi Samhita and its meaning)

is not matched correctly?
Options:
e, Jyakara — Bow-maker

- % Karmara — Blacksmith

= % Kaulala — Potter

4 % Rajjusarja — Rope-maker

= % Sailusha — Musician/Singer

Question Number : 56 Question Id : 34753556 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 57 Question Id : 34753557 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following was not a thinker of Ajivaka sect?
Options:
, % Makkhaliputta Gosala

> « Mallinatha

= % Nanda Vachcha

4 % Pakudha Kachchana
« Purana Kassapa

Question Number : 57 Question Id : 34753557 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 58 Question Id : 34753558 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about Gahapatis:
1. The term Gahapati implied a prestigious and elite position that was accorded to a person of immense eminence
irrespective of the varna-jari affiliation of that person.
Gahapatis unlike gahatthas (ordinary householders) had fabulous wealth.
Great wealth and status of the Gahapatis marked them out from their extended kin-group.
Pali texts hold the term Gahapati synonymous with the seithi.

I

s L

Which of the above mentioned statements is/are not true?
Options:
1 % land3

> % land4
w Only 1
g Only 2
» Only 4

Question Number : 58 Question Id : 34753558 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
TETfaT & favw 7 enfaf@s syar v TEw Hifsc:
1. TFTIT e B Fiasarqur 3R T BUTS &7 & 811 & S U 986 TANayYT edted
T 3T JU-FT T & F9eT qrea off
2. TFCYT (WA TETAT) FT HIST TFT/aa & TH A GFTAT g9 o
3. 7gafadl #T 37hd Bfed X AATSF 88T 3o 3eTeh QAT TAA-HAE H 37T
FTAT o7
4. 916 IEAT H TG A FFT T TITIA=ET 2
IRIFT FIAT § § FIFAVT FIF 30T /87

Options:

;% 133
% 13K 4
5 % ool 1
4 ®% Fad 2




c  Hhad 4

Question Number : 59 Question Id : 34753559 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
The earliest known reference of Moriyas/Mauryas is found in which of the following text?

Options:

,  Mahaparinibbanasutta
- % Mahavamsa

= % Mahavamsatika

4 % Mudrarakshasa

= % Parishishtparvan

Question Number : 59 Question Id : 34753559 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 60 Question Id : 34753560 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following Kings is not mentioned in the Rock Edict XIII of Ashoka?

Options:
| % Turamayva

» % Maga
5 % Amtiyoka
4 % Amtekina

5 « Alitrokhates

Question Number : 60 Question Id : 34753560 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 61 Question Id : 34753561 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the followimng pairs (words found in Ashokan inscriptions and their meanings):

1. Parisa — Council of Ministers
2. Pulisa — Royal functionaries of different ranks
3. Rajuka — In charge of locality level unit

Which of the above pairs is/are not matched correctly?

Options:
, % Onlyl

> % land2
3 % 2and3
4 % land3
c ¢ 1.2and3

Question Number : 61 Question Id : 34753561 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 62 Question Id : 34753562 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



Match List I with List IT and select the correct answer from codes given below:
ListI ListII
(Mahamatras) (Duties Performed)
A, Amtamahamatras In charge of the judicial department in the city
B. Ifithakamahamatras In charge of the frontier areas
C. Vachabhumikamahamatras In charge of the Law of Piety
D. Nagalavivohalakamahamatias In charge of women in general/ mahamatras in the inner chamber
E. Dhammamahamatias In charge of the pasture grounds

L e B

Options:
{ ®« A—4,B-2,C-5D-3,E-1

> x A—2,B-4,C-1,D-3,E-5
2 A-2,B-4,C-5D-1,E-3
4, % A-3,B-5C-2,D-1E-4
% A-2,B-5C-4,D-1,E-3

Question Number : 62 Question Id : 34753562 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 63 Question Id : 34753563 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Coins of which of the following Indo-Greek rulers have the first iconic representations of Vasudeva Krishna and
Samkarshana (Balarama)?

Options:

,  Agathocles

> % Apllodotus



= % Demetrius

4 % Euthydemus

c % Pantaleon

Question Number : 63 Question Id : 34753563 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 64 Question Id : 34753564 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about Indo-Greek coins which circulated to the south of Hindu Kush:

1. They were made of gold. silver. copper and nickel.
2. They followed the Attic weight standard.
3. They had bilingual inscriptions.

Which of the above statements is/are not true?

Options:

1 ¢ land2

> % land3
- % Onlyl
4 % Only?2
c % Only3

Question Number : 64 Question Id : 34753564 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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= % ohael 1
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c % o 3

Question Number : 65 Question Id : 34753565 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about various types of siri-dhana:

1. Adhvagni stri-dhana was given to women at the time of marriage before the nuptial fire.

2. Adhvavahnika stri-dhana was given out of affection to a woman by her father-in-law or mother-in-law and which
she received by her at the time of performing obeisance at the feet of elders.

3. Pratidatta stri-dhana was the one. which a woman obtained when she was taken in a procession from her father’s
house to the groom’s house.

Which of the above statements is/are true?

Options:
; % Only3

-  Only2
3 % 2and3
4  Onlyl
s % land2

Question Number : 65 Question Id : 34753565 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % a3
5 % ohaol 2
- % 23K 3
4 el 1
cx 132




Question Number : 66 Question Id : 34753566 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Prabhavati Gupta:
1. She was the daughter of Chandragupta I and Mahadevi Kumardevi.
2. She was born into Bharadavaja gofia.
3. She was married to Rudrasena II. the Maharaja of Vakatakas.
4. She had a son named Pravarasena.

Which of the above statements are not true?

Options:

; % 1,2and3

5> o 1.2and4
o % 1.3 and 4
4 % 2and4

s ® 3and4

Question Number : 66 Question Id : 34753566 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

% 1,238
s 1.2 384
. x 1,334
4 % 2 3T 4
cx 3 3R 4

Question Number : 67 Question Id : 34753567 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following rulers wrote a play titled Mattavilasa-prahasana?

Options:
1.9 Mahendra-varman I

» % Mahendra-varman II

= % Narasimha-varman I



4 % Narasimha-varman II

c % Simhavarman

Question Number : 67 Question Id : 34753567 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 68 Question Id : 34753568 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

A Chinese emperor of T ang dynasty. Tai Tusung. sent an embassy to the court of an Indian dynasty in AD 643 and
again in AD 647. On second occasion the Chinese ambassador found that the ruler had recently died. with the throne
usurped by an undeserving king. The Chinese ambassador rushed to Nepal and Assam to raise a force with which the
allies of the deceased king defeated the usurper and he was taken a prisoner to China. Identify the deceased king from
the following options:

Options:
1 % Bhaskarvarman

> % Grahavarman

z « Harshavardhana

4 % Prabhakaravardhana
5 ® Rajyavardhana

Question Number : 68 Question Id : 34753568 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 69 Question Id : 34753569 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following Gurjar-Pratihara rulers:
1. Bhoja
2. Harichandra
3. Nagabhatta I
The correct chronological order of the above rulers will be:

Options:
; % 12,3

gl Ry
o 5.2
o8 2.3
oo Byl

Question Number : 69 Question Id : 34753569 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 70 Question Id : 34753570 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
The traditionally held view of ‘tri-partite’ struggle for the mastery over Kannauj has been reconsidered by:



Options:
, % B.D. Chattopadhyaya

> % B.P. Majumdar
3 « D. C. Sircar
4 ® D.D. Kosambi

= % R.C.Majumdar

Question Number : 70 Question Id : 34753570 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 71 Question Id : 34753571 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following scholars has argued that Muslims were never viewed as the single enemy and single target of
Gurjars and Rajput ruling houses?
Options:

, « B.D. Chattopadhyaya

-~ % John Deyell

3 % K. M. Munshi
4 % Pushpa Prasad
% R. C. Majumdar

Question Number : 71 Question Id : 34753571 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 72 Question Id : 34753572 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following medieval scholars has accused Muhammad bin Tughlaq of trying to combine spiritual and
political authority in his person?

Options:

1 % Amir Khusrow
-~ % Minhaj-us-Siraj

5 % Nasiruddin Chiragh Dehlavi
4 % Shams Siraj Afif

c « Ziauddin Barani

Question Number : 72 Question Id : 34753572 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 73 Question Id : 34753573 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about Ghayasuddin Tughlaq:
1. He removed the noble families of the time of Alauddin Khilaji and his son Kaiqubad from their posts and
confiscated their igfas.
. He got revenue free lands held by theologians examined and reduced them in many cases.
3. He did not accept the narrow interpretation of the shara regarding the humiliation and impoverishment of the
Hindus advocated by some theologians.
Which of the above statements is/are true?

| ]

Options:
1 % land2

-~ % land3



o % 1.2 and 3

4« 2and3
c % Only3

Question Number : 73 Question Id : 34753573 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

% 13k2
- % 1 3R 3
sx 1,233
s 23R 3
c % had 3

Question Number : 74 Question Id : 34753574 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Sikandar Lodi:

1. He checked the growing power of Khokhars who lived in Salt Ranges.

He invited the Afghans of Roh to India.
He introduced a new measurement of a yard which continued to prevail till the Mughal times.
He sternly forbade the Muslims from following practices which were against shara.
He gave magnificent grants to scholars. philosophers and men of letters.

Which of the above statements are true?
Options:

;= 1,2 and 3

b

o

I~

5 % .3and 4

.d4and 5

Faa

=i

4 % 1.4 and 5

= % l.2and5

Question Number : 74 Question Id : 34753574 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 75 Question Id : 34753575 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements:
1. Neither the arch nor the dome was a Turkish or Muslim invention. The Arabs borrowed it from Egypt through

Byzantine Empire. developed them and made them their own.
The arch and the dome were known to the Indians earlier. but they were not used on large scale. It was based on
slab and beam method.

3. The arch and the dome dispensed with the need for a large number of pillars to support the roof and enabled the

construction of large halls with a clear view.

Which of the above statements is/are true?

b

Options:
1 % land2

> o 2and 3
z % land3

4 % 1.2 and 3

c % Onlyl

Question Number : 75 Question Id : 34753575 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1



ynfaf@a suar . = AT
1.3 aF #eUE AR 1 & TFE gF a1 AFEH AfaER ¥ WET 7 3§ aSiaas JEey
% ST BE § TR A, 3= W S 3 30 @
2. FET 3R A ARAE F UES ¥ A & AfkA 3AST 73 AAS W FART Fg
4T T gfear A aEar & T 9 smanfE O
3. AEE AR TFE & OF F WAG & o0 T HEAT F FAFHT BT FETRAT B FATA
FT faar 3t e w27 O 92 Fa & AT Fr 399 & |
IRIFT FUAT § T Fi9 T/E FI9 T 2127

Options:

L% 132
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Question Number : 76 Question Id : 34753576 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following pairs (Author — Work) is not matched correctly?

Options:

1 % Shrivara — Karhakautuka
5 % Jonaraja — Rajatarangini
= % Bhattavatara — Zainavilas
4 « Amir Hasan — Nuh Sipihr

c % Amir Khusrau — Khazainul Futuh

Question Number : 76 Question Id : 34753576 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 77 Question Id : 34753577 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following administrative reforms carried out by Mahmud Gawan:
1. Each of the four overgrown farafs was divided into three under separate governors.
2. Several places in each of these twelve divisions were reserved especially to meet the king’s private expenses. and
district collectors were appointed from the court to manage them.
3. Only one fort in each province was left in the governor’s hands, the reminder being entrusted to officers and
troops distinctly appointed by the king and paid from headquarters.
Which of the above statements is/are not true?

Options:
; % Onlyl

-  land 2
3 % land3
4 % 2and3

c % Only3

Question Number : 77 Question Id : 34753577 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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4% 23K 3
c % hdol 3

Question Number : 78 Question Id : 34753578 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following pairs (Work — Content) is not matched correctly?
Options:

, » Amuktamalyada — Deals with the life of Alvar Vishnucitta



> % Svarochisha-Sambhava — Story of the birth of second Manu

-  Parjataharana — Story of an episode in Krishnadeva Raya’s life
4 % Raghava-Pandaviva — Story of the Ramayana and Mahabharata simultaneously

5.
Panduranga Mahatinva — Story of a dissipated Brahmins’s soul being rescued from the servents of Yama

Question Number : 78 Question Id : 34753578 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 79 Question Id : 34753579 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Who controlled Punjab at the time of the first battle of Panipat (20 April. 1526)?

Options:
1 % Alam Khan

> % Bahlol Lodi
- % Darya Khan Nuhani

4 + Daulat Khan Lodi

c % Rana Sanga

Question Number : 79 Question Id : 34753579 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
O $T gge 9= (20 3w, 1526) F THT TS WX RO fHIEor or?

Options:
| w HTSH @

o ® Waﬁ
. » G T SET
4\,-"%?@1?%



c TI'UTI'FiTIT

Question Number : 80 Question Id : 34753580 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements in the context of Babar’s early successes in northern India:
1. Many of the Babar’s begs and armymen thought that their struggle has been amply rewarded and it was time to
return home.
2. Babar’s begs found India to be a foreign land in every respect.
3. The people were very receptive and they welcomed Babar’s men.
‘Which of the above statements 1s/are true?

Options:
; % Onlyl

> o 1land 2
z % land3
4 % 2and3
c % Only3

Question Number : 80 Question Id : 34753580 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 81 Question Id : 34753581 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following pair (Year — Event in the life of Humayun) is not correctly matched?

Options:
, % 1530—Accession of Humayun

- « 1531 — Battle of Dadrah
5 % 1539 — Battle of Chausa



4 % 1540— Battle of Kannauj

c % 1535 —Fall of Chittor

Question Number : 81 Question Id : 34753581 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 82 Question Id : 34753582 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong : 1
Consider the following statements about Shershah:

1. Shershah made a rule to the effect that whoever came to the sarai was to be served with food out of government
money according to one’s rank.
In Sher Shah’s empire. goods paid customs duty only at the place of their enfry.
Sher Shah made it a rule to make the mugaddams (headmen of villages) and zamindars responsible for
apprehending the culprits if the theft took place within their charge. or to make good the loss if they were unable
to do so.

4. He infroduced the branding system (dagh) horses.

‘Which of the above statements are true?

W

Options:
; % 1,2and3

5 % 1.2 and 4
o % 1.2, 3and 4
4 ¢ l,3and4

= % 2,3 and 4

Question Number : 82 Question Id : 34753582 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 83 Question Id : 34753583 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements:
1. According to Abul Fazl. Royalty is a light emanating from God and a ray from the Sun. This light was called
Jfarr-i-izidi.
According to Abul Fazl. a ruler endowed with farr-i-izidi had a paternal love towards the subjects.
It was necessary for a kind endowed with far7-izidi to establishing social stability by not permitting sectarian
strife.
Which of the above statements is/are true?

W b

Options:
1 % land2

-~ % land3

- % Onlyl

4 & 1.2 and3

s % 2and3

Question Number : 83 Question Id : 34753583 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

L% 132
- % 1 3R 3
3 % haol 1
Lo 12383
cx 2 3R 3

Question Number : 84 Question Id : 34753584 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following pairs (Akbar’s administrative measure — year):
1. Appointment of Amils / Karoris to measure the land of a village, and to assess the area under cultivation — 1574
2. Bringing of the area of Hindustan (from Lahore to Allahabad) under khalisa — 1576
3. Grouping of land under assessment circles called dastur — 1580

Which of the above pairs is/are not matched correctly?

Options:
1 % land 2

> % 1land3
5 » Only 1
4 % Only?2
c  Only3

Question Number : 84 Question Id : 34753584 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 85 Question Id : 34753585 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

‘Which of the following historians have criticised the theory of Nur Jahan’s ‘Junta’?
Options:

1 % Beni Prasad

> % Ishwari Prasad
= % K.N. Chaudhri
4 + Nurul Hasan
5 % Om Prakash

Question Number : 85 Question Id : 34753585 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 86 Question Id : 34753586 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the followmg events in the life of Shahjahan:

1. Battle of Kartarpur with Guru Hargovind Singh

2. Accession to throne

3. Attack on Hugli

4. Commencing of the construction of Shahjahanabad
The correct chronological order of the above events will be:
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Question Number : 86 Question Id : 34753586 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 87 Question Id : 34753587 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Officials appointed by Aurangnzeb to see that people lived their lives in accordance with the sharia were known as:

Options:
1 % Mutasaddi

- % Mustaufi
= % Mujtahid
4 # Mujannas

c « Muhatasibs

Question Number : 87 Question Id : 34753587 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

7 3w & v & & duar shaw ofRer & wqer s @ 8, A & @ Agea
HEFT g ST o

Options:



Question Number : 88 Question Id : 34753588 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events:
1. Diler Khan's failed invasion of Golconda
2. Jai Singh'’s failed campaign of Bijapur
3. Treaty with Biyjapur in which Mughals suwrrendered to it one-third of the territories of Ahmadnagar
The correct chronological order of the above events would be:
Options:
; % 1,2,3

ol ZdyB
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Question Number : 88 Question Id : 34753588 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Question Number : 89 Question Id : 34753589 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements about the Treaty of Purandar (1665) is not true?

Options:



1 ®

Out of the 35 forts held by Shivaji. 23 forts with surrounding territory which yielded a revenue of four lakhs of huns
every year were surrendered to the Mughals.

o B

Shivaji's was allowed to retain 12 forts with an annual income of one lakh of huns on condition of service and loyalty to
the Mughal throne.
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4 ®
Bijapury territory worth five lakhs of huns a year in the uplands (Balaghat) which Shivaji was to conquer was granted to
him in return of payment of 40 lakhs /s in instalments.

= % Shivaji promised to join personally in any Mughal campaign in the Deccar.

Question Number : 89 Question Id : 34753589 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 90 Question Id : 34753590 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following pairs (scholar — causes propound by hinvher for the decline of Mughal empire):
1. I F. Richards — Aurangzeb’s discriminatory religious policies
2. William Irvine — Deterioration of the characters of emperors and their nobles.
3. Satish Chandra — Jagirdari Crisis
4. Irfan Habib — Agrarian Crisis

Which of the above pairs are matched correctly?

Options:

; % 1,23 and 4

> % 1.2and4

- % 1.3and4



4« 2.3and4

s % 3and4

Question Number : 90 Question Id : 34753590 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 91 Question Id : 34753591 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following was not the responsibility of sadr-us-sudui?

Options:
, = Toadvice king regarding the enforcement and interpretation of s/ria or holy law

> % Toappoint gazis all over the empire

3 #

To award subsistence allowances to deserving scholars. divines and weaker sections such as women of noble families

4 % Toexercise a kind of censorship over the education. ideas and morals of the people

=  Toarrange for the palace guard and malke recommendations for rewards to them

Question Number : 91 Question Id : 34753591 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 92 Question Id : 34753592 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements about office of Mir Bakshi during Mughal period is not true?

Options:
1. %

The post of Mir Bakshi had been in existence in the Delhi Sultanat since the time of the Balban under the name of
divan-i-arz.

- % Mir Bakshi presented all candidates for appointment to the Emperor.

3.
All promotions, including appointments to all high officials of the state, such as vakil, wazir, sadr passed through the
Chief Bakhshi.

4 « Inthe capacity of commander-in-chief he arranged for disposition of troops in battle.

= u He was the head of the intelligence department.

Question Number : 92 Question Id : 34753592 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 93 Question Id : 34753593 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Comnsider the following statements:
1. Many Mughal paintings are composite in nature. Two or even three painters were used to complete a picture.
2. Under Akbar European style of painting was introduced at the court by the Portuguese priests.
3. Under European influence. the Mughal painters soon mastered the art of perspective in their works.
Which of the above statements is/are true?



Options:
1 « land 2

-~ % land3
5 w Only 1
4 % 2and3

c % Only3

Question Number : 93 Question Id : 34753593 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 94 Question Id : 34753594 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Match List I with List IT and select the correct answer from codes given below:

ListI ListIT
A. Tabib 1. Village accountant
B. Baqqal 2. Farmer of any item of public revenue
C. Kulkarni 3. Medical practitioners
D. jardar 4. Foodgrains merchant
E. Malikut-Tujjar 5. Chief of merchants. a title given to one of the highest officer of the state.
Options:

, % A-3,B—4,C—~1,D-5E-2
> # A-3,B-1,C-4,D-2,E-5
2 ¢ A-3,B—-4,C-1,D-2,E-5

4% A-3,B-5C~1,D-2,E-4



=% A-5B-4,C-1,D-2,E-3

Question Number : 94 Question Id : 34753594 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1

ﬂiﬁ'lHﬂﬁllﬁmiﬁﬁ?ﬁ?ﬁ%@m@ﬁﬁﬂﬁamiﬂgmq Fif=T:

EXY ol

A T 1 9T & JEFR

B e 2 WESAHE TIET Fr FEr off AT F 3TSE I
IExIC

C Forarult 3 TRfrcar sgaamn

D &ReR 4 QAT TTTIHEr

E Al 5 SOOIl F FWAL, TH I S [Tk TH

T IToUga HTOFRT & & Frar o |

Options:
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Question Number : 95 Question Id : 34753595 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Mughal practice of separating the diwani and Nizamar functions was nominally revived in Bengal after which of the
following battle?

Options:
, = Battle of Calcutta, 1756

- w Battle of Plassy. 1757

- % Battle of Chinsurah, 1759
% DBattle of Giria. 1763
Battle of Buxar, 1764
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Question Number : 95 Question Id : 34753595 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 96 Question Id : 34753596 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following pairs (event — year):
1. Purchase of Madras by British East India Company — 1640
2. Capturing of Madras by French East India Company — 1746
3. Restoration of Madras to the British — 1750
Which of the above pairs is/are not matched correctly?

Options:

1 % land2
> % land3
- » Onlyl
4 % 2and3

c  Only3

Question Number : 96 Question Id : 34753596 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 97 Question Id : 34753597 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct: 2 Wrong: 1
Consider the following events:
1. Convention of Wadgaon
2. Treaty of Bassein
3. Treaty of Salbai
4. Treaty of Surat
The correct chronological order of the above events will be:
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Options:
; = 1,4,3,2
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Question Number : 97 Question Id : 34753597 Question Type: MCQ Display Question Number : Yes SingleLine Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 98 Question Id : 34753598 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements in the context of Second Anglo-Maratha War:
1. The Second Anglo-Maratha war was waged by the East India Company, supposedly on behalf of the Peshwa to

silence Maratha opposition to their appropriation of the Peshwa’s authority.
The success of this Second Anglo-Maratha war resulted in conflict between Maharaja Ranjeet Singh and East
India Company.

3. The British acquisitions of Ganga-Jamuna Doab were retained but they withdrew from central India and

Rajasthan.

4. Mahadji Scindia soon captured territories abandoned by British.

Which of the above statements are not true?

| £

Options:



1 % land2
> % land3
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Question Number : 98 Question Id : 34753598 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 99 Question Id : 34753599 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who among the following is considered ‘father” of Permanent Settlement?

Options:

1 % John Shore
- « Philips Francis

= % The Earl of Cornwallis

4 % TheMarquess Cornwallis

= x Wwarren Hastings

Question Number : 99 Question Id : 34753599 Question Type: MCQ Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 100 Question Id : 347535100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the above administrative measure during colonial India:
1. Approval of Regulation XVII of the Bengal Code regarding abolition of Sati
2. Endorsement of Thomas Babington Macaulay’s ‘Minutes on Indian Education’
3. Review of Permanent Settlement
4. Suppression of the Thugee

Which of the above is/are not associated with Lord William Bentick?

Options:

1 % land3

# 2and3
% 2and 4
# Jand 4
» Only 3

G -0

Question Number : 100 Question Id : 347535100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 101 Question Id : 347535101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Dallhousie’s ‘Doctrine of Lapse ™
1. Dalhousie classified the Indian states into three different groups.
2. The firsts group was composed of states which he regarded to be the creation of the British government. The
‘Doctrine of Lapse’ was applied most vigorously to this group of states.
3. *Tributary and subordinate’ states formed the second group. Their rulers were allowed to adopt heirs only with
the prior consent of the Company.
4. Third group consisted of ‘independent’ states. Their rulers were left free to make their own decisions.
Which of the above statements are true?

Options:
1 % land 2

> % 2and3
z % 3and4
4 % land 4

c o 1.2,3and4

Question Number : 101 Question Id : 347535101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 102 Question Id : 347535102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Which of the following pairs (Scholar — causes of the revolt of 1857) is not matched correctly?



Options:
, w Richard Holmes — Ill-treatment of Indian sepoys

> % H. G. Kene — ‘Over-ambitious’ changes infroduced by Dalhousie
5»
John W. Kaye — Rumour about polluting food leading to the defilement of Hindus and Muslims

4 « Erick Stokes — ‘Feudal outburst” of local talukdars

= % Ranjit Guha — Unease of agrarian society

Question Number : 102 Question Id : 347535102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 103 Question Id : 347535103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements about changes in the British administration of Indian territories following the
enactment of Government of India Act. 1858 is not true?
Options:
1.4
The government of India was placed in the care of a new government department in London. the India Office. to be
headed by the Secretary of State. who was a member of queen’s famuily.
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3 ®
The Viceroy retained the title of Governor-General. but he was made directly responsible to the British Cabinet.
4 ®
The Viceroy. once appointed. served his full term even if his party resigned from power in Britain.
5"
The Governor-General’s Council in India was renamed the Council of the Governor-General of India.

Question Number : 103 Question Id : 347535103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 104 Question Id : 347535104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following events:

1. Introduction of Ilbert Bill

Promulgation of Famine Code
Formation of Archaeological Survey of India
Foundation of College for the education of Indian princes
. Extension of elective self — government to municipalities and mral boards
‘Whi::h of the above measures are not associated with the Governor-Generalship of Lord Ripon?
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Lok W

Options:
1 % land2

-~ % 2and3
3 « 3 and 4
4 % 4dand 5

s ® land 5

Question Number : 104 Question 1d : 347535104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 105 Question Id : 347535105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following Socio-Religious Movements:
1. Atmiya Sabha
Brahmo Samaj
Manav Dharma Sabha
Paramhansa Mandali
5. Prarthana Samaj
The correct chronological order of their foundation will be:
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Question Number : 105 Question Id : 347535105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 106 Question Id : 347535106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Match List I with List and select the answer from codes given below:

List[ ListII
(Socio-Religious Movement) (Area of Activity)
A. Hindu Missionary Society 1. Gujarat
B. Swami Narayan Movement 2. Bombay
C. Rahnumai Mazdnedayasan Sabha 3. Maharashtra
D. Mohammedan Literary Society 4. Calcutta

Options:
 #« A-3,B-2,C-4,D-1

> w A-1.B-3.C-4.D-2
5 ¢ A-3.B-1.C-2.D-4
% A-1.B-2.C-4.D-3
=%« A-3B-2.C-1.D-4

Question Number : 106 Question Id : 347535106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 107 Question Id : 347535107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about Mahalwari Settlement:
1. It was introduced in the large part of Punjab. the United Provinces and most of Central Provinces.
The land belonged jointly to the ‘village community” technically called the body of co-shares.
The payment of revenue was the collective responsibility of ‘village community’. The individual responsibility
was completely done away with.
4. Individuals signed agreements with head of the ‘village community’, the lambardar, who was responsible for
paying the revenue of the community to government.
Which of the above statements are not true?

Options:
1 % land 2

I

ool

> % land4
and 3
and 4

| ]

3 %

b

4 %
5 « 3 and 4

Question Number : 107 Question Id : 347535107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

L x 13K 2
- = 13K 4
5 x 23K 3
4% 23R 4
s v 3 3R 4

Question Number : 108 Question Id : 347535108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements:

Assertion (A): During colonial rule, a strong Indian business community
survived i the western region.
Reason (R): Peshwa’s territory came under Company rule only in 1818, after

the East India Company had lost its monopoly of frade.
On the basis of the above statements it can be concluded that:
Options:
;| ® A is true, R is false

- % Adis false, R is true

z % Both A and R is false

4  Both AandRis true and R is the correct explanation of A

= » Both A and R is true but R is not the correct explanation of A

Question Number : 108 Question Id : 347535108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 109 Question Id : 347535109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong : 1
Consider the following events:
1. Adams Regulation of Press Law requiring license for printing
2. Newspaper (Incitement to Offences) Act
3. Regulation of Press Act (Metcalfe Act)
4. Regulation order of Bengal Government prohibiting publication of news without censor’s approval
The correct sequence of the above events will be:

Options:
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Question Number : 109 Question Id : 347535109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 110 Question Id : 347535110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements:

Assertion (A):  The establishment of an all-India association (Indian National
Congress) does not mean that it was radical in its aims and
programimne.

Reason (R): Early Congress was an association of loyalist and consistent
well-wishers of the British government.

On the basis of the above statements it can be concluded that:
Options:
;] % A is true. R is false

> % Als false. Ris true

=z % Both A and R is false

,  Both Aand R is true and R is the correct explanation of A

= % Both A and R is true but R is not the correct explanation of A

Question Number : 110 Question Id : 347535110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 111 Question Id : 347535111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following pairs (Author — Work):

1. Dadabhai Naoroji — The Poverty Problem in India

Mahadev Govind Ranade — Essayvs on Indian Economics
Prafulla Chandra Ray — Poverty and Un-British Rule in India
Romesh Chunder Dutt — Economic History of India
Subrammnya Iyer — Some Economic Aspects of British Rule in India
Which of the above pairs are not matched correctly?

I

PO

Options:
1 % land 2

> « 1 and 3
3 % 2and3
4 % 3and4
5 % 3andS5

Question Number : 111 Question Id : 347535111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



HIoET TFAT (FEH-350+) W =R fiw:
1. EETes AR - The Poverty FProblem in India

2. HEgeT Mg AR - Essays on Indian Economics
3. 9%cel g ¥ - Poverty and Un-British Rule in India
4 A =g Sed - Economic History of India

5. 9HYY HTIX - Some Economic Aspects of British Rule in India
INEFT H § FaT @ geH gafaa @ 22
Options:

 x 132
5w 1 3R 3
- % 23R 3
4 x 33K 4
c % 3 3R 5

Question Number : 112 Question Id : 347535112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events:
. Constituent Assembly meeting without Muslim League members
2. Muslim League’s call to Muslims to observe 16 August as ‘Direct Action Day’
3. Mushim League’s decision to join the interim government
4. Prime Minister Attlee’s announcement of the Bristish intention of leaving India by June 1948
The correct chronological order of the above events will be?

—

Options:
L % 4.3,

-2
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!x.il
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> % 4
2% 24,1,

4% 21,4,
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Question Number : 112 Question Id : 347535112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 113 Question Id : 347535113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Raja Ram Mohan Roy:
1. He had a great mastery over Persian and Arabic languages.
2. He had great familiarity with Hindu and Islamic trends of logic and reason.
3. Vedantic dualism and ideas of Koran had great appeal to him.

Which of the above statement/s is/are not true?

Options:

, % Onlyl

» % Only2
5 o Only 3
4 % land3
c # 2and3

Question Number : 113 Question Id : 347535113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

=T UF Agd 9 & 91 7 A=of@e Faar 97 T= 1 #:3
1. 3o BRET 3T 3TET AT H AgRY e o7
2.3 do AR Fa=a F Bg AN swomdr ggfcaat & ar=or aft=y i
3. 39gd F gadag AN IS & TR 3% Y 3= w1 O
e # T FiT qUY FAT 3T 22

Options:
1 #® 1



> % 2
3z v 3

Question Number : 114 Question Id : 347535114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Balwant Gangadhar Tilak:

1. His writings bore the imprint of Vishnushastri Chiplunkar.

He supported the Age of Consent Bill and criticised those who opposed it through his writings.
He made attempts to develop contacts with the working class of Bombay.
He participated in the mass picketing of liquor shops.
He published two newspapers. Kesari (English) and Maratha (Marathi).
Which of the above statements are true?

k-

B W

Options:

L ¢ 1.3.4
> % 2,3.4
=% 12,5
4 % 2,3,5
=% 2,45

Question Number : 114 Question Id : 347535114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 115 Question Id : 347535115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements:

Assertion (A): Indian Councils Act of 1909 came as a concession after the
intense repression leashed on Swadeshi activists — extremists and terrorists.
Reason (R): It was intended to assuage the feelings of all those still loyal to

the British — Moderate Congress leaders, Muslim leaders who
wanted special privileges and rulers of princely states.

On the basis of the above statements it can be concluded that:

Options:

;| ® A is true, R is false

- % Adis false. R is true

z % DBoth A and R is false

4 = BothAandR is true and R is the correct explanation of A

=  Both Aand R is true but R is not the correct explanation of A

Question Number : 115 Question Id : 347535115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 116 Question Id : 347535116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Consider the following statements about Government of India Act. 1935:

1. Dyarchy of the 1919 reforms was replaced with responsible self-government in all the departments in the
provinces and at the centre.
The provincial governors were to command special powers to safeguard British business interests.
The demand of Government of India for fiscal autonomy was conceded by transferring financial control from
London to New Delhi.
Which of the above statements is/are true?

L I ]

Options:
1 % land 2

> % 1land3
- » Only 1
4 o 2and 3
= % Only2

Question Number : 116 Question Id : 347535116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 117 Question Id : 347535117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the followmg two statements in the context of Industrial revolution:

Assertion (A): In Europe. revolutions precipitated in one country after another
by the discontent of manufacturers and workers.
Reason (R): The restricted. paternal, or aristocratic traditions and institutions

of monarchical government were seldom well suited to dealing
with novel social problems.

On the basis of the above statements it can be concluded that:

Options:

| « Alstrue, Ris false



> % Adls false, R is true

=z % Both A and R is false

4 % BothAandR is true and R is the correct explanation of A

= » Both A and R is true but R is not the correct explanation of A

Question Number : 117 Question Id : 347535117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 118 Question Id : 347535118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following statements about Industrial Revolution is not true?
Options:

1. %

Industrial Revolution conferred new wealth and power upon the growing middle class of enterprising traders.
manufacturers. and financiers.

2 #

Western Europe became one conunercial. industrial. and financial society as was evident by the international
repercussions of the financial panics of 1816-17. 1819 and 1825-26.
3 #

The restrictions imposed on trade or manufacture by the conservative governments in their interests were resented and
attacked by this society.
4 ®

The interests of the new wage-earning classes coincided. in some respect. with the interests of their employers. But
confronted with the harsh realities of industrialism, they soon looked to the state for protection of their interests.
=il

The forces of conservatism often contrived to win wage-earning class’s support by timely concessions to it so as to
resist effectively the more far-reaching and radical demands of the new middle class.



Question Number : 118 Question Id : 347535118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 119 Question Id : 347535119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The pamphlet Common Sense was written by which of the following?

Options:
, w» Benjamin Franklin

- % Hobbes
= % Roussean
4 « Tom Paine
5 % Voltaire

Question Number : 119 Question Id : 347535119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 120 Question Id : 347535120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events related to American War of Independence:
. Boston Massacre
2. Boston Tea Party
3. British defeat at Yorktown
4. Continental Congress
The correct chronological order of the above events will be:

—

Options:

1 % 1,4,2.3

> w 2,1,4,3
2 1.2,4,3
4% 3.1,2.4
o # 5234

Question Number : 120 Question Id : 347535120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Options:
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Question Number : 121 Question Id : 347535121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Consider the followimng two statements in the context of French Revolution:

Assertion (A): The connection between the Ideas of philosopehes and the
outbreak of French revolution is remote and indirect.
Reason (R): The doctrine of the philosophes was used during the course of

revolution in France. often to justify measures that the
philosophes themselves would have opposed.

On the basis of the above statements it can be concluded that:

Options:

;] % A is true. R is false

> % Als false. Ris true

=z % Both A and R is false

, » BothAandR is true and R is the correct explanation of A

=  Both A and R is true but R is not the correct explanation of A

Question Number : 121 Question Id : 347535121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 122 Question Id : 347535122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Consider the following two statements in the context of Napoleonic Code:

Assertion (A): The Napoleonic Code was accepted by other European countries
which came to be included in his empire.
Reason (R): The Napoleonic Code gave prominence to the Principles of
Greek Law.
On the basis of the above statements it can be concluded that:
Options:

| « Alstrue, Ris false
> % Als false. Ris true

=z % Both A and R is false

, » BothAandR is true and R is the correct explanation of A

= % Both A and R is true but R is not the correct explanation of A

Question Number : 122 Question Id : 347535122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 123 Question 1d : 347535123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The pact of Plombieres was undertaken between:
Options:

Napoleon ITI and Cavour

S

1.
-~ % Napoleon III and Garibaldi

- % Napoleon IIT and Mazzini
, % Napoleon III and Victor Emmanuel

= % Napoleon III and Victor Joseph



Question Number : 123 Question Id : 347535123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 124 Question Id : 347535124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events leading to the Unification of Italy:
1. Congress of Paris
2. Pact of Plombieres
3. Treaty of Villafranca
The correct chronological order of the above events will be:

Options:
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Question Number : 124 Question Id : 347535124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 125 Question Id : 347535125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following events in the career of Otto von Bismarck:
1. Annexation of Schleswig and Holstein
2. Baden Memorandum
3. Takeover of Alsace and Lorraine from France

The correct chronological order of the above events will be:

Options:
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Question Number : 125 Question Id : 347535125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 126 Question Id : 347535126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about the German Unification:

1. The long sequence of events which culminated in the new German Reich of 1871 was actually a coherent plan of
Bismarck.
Bismarck had told Disraeli about his whole scheme in the course of a dinner conversation in 1862, shortly before
he came to power.

3. The unification of Germany was incidental. a by-product of Bismarck’s never-ending pursuit of Prussian interests.
Which of the above statements is/are not true?

[



Options:
1 % land2

-~ % land3
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S

=
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c % Only3

Question Number : 126 Question Id : 347535126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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IRIFT H T i /T FUF 30T 227

Options:

L% 132
- % 1 3R 3
3.-,,4*%?{1
4% 23K 3
c % hdol 3

Question Number : 127 Question Id : 347535127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements in the context of British Liberalism:

Assertion (A): Liberal thinkers and statesmen of nineteenth century targeted
great feudal estates. or latifindia.
Reason (R): A monopoly in land impeded the development of a market in

land. strangulated efficiency and gave rise to moral and political
corruption by perpetuation dependence and servility.
On the basis of the above statements it can be concluded that:
Options:
, % Alstrue, Ris false

» % Adis false, R is true

= % Both A and R is false

4 « Both AandR is true and R is the correct explanation of A



= % Both A and R is true but R is not the correct explanation of A

Question Number : 127 Question Id : 347535127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

HNAT@T 2 Fual, S sffFya (A) 3k FrOT (R) Fa7 7127 &, ¢ o= i
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Options:
.« AFT E, R 38T gl
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Question Number : 128 Question Id : 347535128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements in the context of British Liberalism:

Assertion (A):  Liberal political theory was invoked by colonial administrators
for the suppression or expropriation of nomads. herdsmen and
hunter-gatherers etc.

Reason (R): Liberal political theory had a strong exclusionary dimension
which provided lawyerly and intellectual approval for colonial
settlements world over.

On the basis of the above statements it can be concluded that:
Options:
;] % A is true. R is false

> % Als false. Ris true

=z % Both A and R is false

,  Both Aand R is true and R is the correct explanation of A

= % Both A and R is true but R is not the correct explanation of A

Question Number : 128 Question Id : 347535128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Options:
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Question Number : 129 Question Id : 347535129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements in the context of the American Civil War:
1. The Civil War aborted the emergence of a more aggressive American expansionist policy in the Pacific and the
Far East.
2. The Civil War encouraged France to make its foray into the sacrosanct territory of the Monroe Doctrine.
3. The defeat of South in the Civil War led to a commercial boom in Cuba.
‘Which of the above statements is/are true?
Options:

; % Onlyl
» % Only2
5  Only 3
4 % 2and3

s % land3

Question Number : 129 Question Id : 347535129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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3 v Fad 3
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Question Number : 130 Question Id : 347535130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements in the context of American Civil War:
1. Britain’s dominance of Atlantic carrying trade came to an end with the unfolding of the Civil War.
2. The British textile industry initially faced hardships due to abrupt loss of cotton supplies from South but it soon
recovered as Britain turned to other sources of supply.
3. Short-staple Egyptian cotton and long-staple Indian cotton found itself in great demand across the world during
the period of Civil War.
4. The world economy witnessed depressions following the resumption of American cotton production.
Which of the above statements are not true?

Options:
1 % land 2

# 1and3

« 1and 4

W R

# 2and3

c % 3and4

Question Number : 130 Question Id : 347535130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 131 Question Id : 347535131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following events in the history of Ottoman Empire in 1oth

1. Emergence of of Greek state with British and Russian Help
2. Seizer of Algeria by French monarchy
3. Emergence of autonomous kingdom of Serbs

The correct chronological order of the above events will be;

century:

Options:

!q
ja—y

1 % 3

> ® 2,31

b
r_M.
.
—
-2

| G

il %
i L2,

L]

Question Number : 131 Question Id : 347535131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 132 Question Id : 347535132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements:
Assertion (A):  The British government promised Zionist leaders that it would
allocate one of the Arab lands, Palestine. to Jewish settlers from Europe.
Reason (R): The British government saw a Jewish state as a barrier against
any Arab threat to the nearby Suez Canal.
On the basis of the above statements it can be concluded that:
Options:
;8 A is true, R is false

- % Adls false, R is true

z % Both A and R is false

4  Both AandR is true and R is the correct explanation of A

= » Both A and R is true but R is not the correct explanation of A

Question Number : 132 Question Id : 347535132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 133 Question Id : 347535133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about ‘T ai-p’ing Reballion’:
1. The concept of ‘Heavenly Kingdom” of ‘Great Peace’ (T ai-p’ing) was inspired from Buddha’s teachings.
2. The early leadership discovered that the material resources simply do not exist to fulfil their visionary ideals of
plenty for all.
3. The new leadership pushed for the ‘modernisation’ of China’s economy through adoption of western techniques.
Which of the above statements is/are not true?

Options:
1 % land 2

-~ % land3

5  Only 1

4 = Only2

= % Only3

Question Number : 133 Question Id : 347535133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 134 Question Id : 347535134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following statements about Meiji Revolution:
1. It was a revolution from the below.
2. The slogans of the revolution had a traditionalist tone.
3. The powers of the emperor were restored.
4, The position of Samurai got strengthened.

Which of the above statements is not true?

Options:

1 % land 2

> % land3
2 « land 4
4 % 2and4
c % 3and4

Question Number : 134 Question Id : 347535134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Options:

;% 132
- = 1 3R 3
2w 134
4% 23R 4
c % 3 3R 4

Question Number : 135 Question 1d : 347535135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following two statements in the context of First World War:
Assertion (A):  The leaders of Socialist movements in Europe who were
otherwise opposed to war, rushed to support it when it actually started.

Reason (R): They wanted to avoid being accused of ‘betraying’ nation.
On the basis of the above statements it can be concluded that:
Options:

;& A is frue, R is false



> % Adls false, R is true

=z % Both A and R is false

» Both A and R is true and R is the correct explanation of A

» Both A and R is true but R is not the correct explanation of A

Question Number : 135 Question Id : 347535135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 136 Question Id : 347535136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following events in the context of First World War:
1. USA’s formal entry into World War I
2. Exit of USSR from World War I
3. Entry of Italy in World War I

The correct chronological order of the following events will be:

Options:
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Question Number : 136 Question 1d : 347535136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 137 Question Id : 347535137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events:

1. Enfry of Germany in League of Nations

2. Enfry of USSR in League of Nations

3. Withdrawal of Germany from League of Nations
The correct chronological order of the above events will be:

Options:
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Question Number : 137 Question Id : 347535137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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1. 8T &7 TS FT H 9990
2. FifSaa g FT T°C 9 H g9
3. FHAT FT TSC T § FigaaA

IRIFA TSATHT FT 3T FTelegehias FH I

Options:

% 1,2, 3
_— -0



T R 3: 2:1
4% 3 1,2
.y 2 1, 8

Question Number : 138 Question Id : 347535138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements about the Treaty of Paris (1919) between Germany and Allied nations:

1. The German city of Danzig was separated from Germany and turned into an autonomous free city for which the
League of Nations accepted certain responsibilities and over which Poland enjoyed specific rights.

2. The Saarland. with its valuable coal. was placed under the League of Nations. and the French were granted the
rights to mines with the provision that after twenty years a plebiscite would allow the population to choose their
own future.

3. The Germans were not required actually to pay for ‘the whole coast of the war’. They had to pay only for losses
caused to civilian property.

4. All the German territory east of Rhine was occupied by the allies for twenty years and evacuation would only
occur in four stages every five years if Germany fulfilled the treaty conditions.

Which of the above statements are not true?

Options:
; % 1,3and 4

2 3and 4

R
%
I

| ]

and 3
and 4

| ]

c % 3and4

Question Number : 138 Question Id : 347535138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 139 Question Id : 347535139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following events in the context of Russian Revolution:
1. Spontaneous riots in Petrograd
2. Seizure of the Winter Palace by Bolsheviks
3. Return of Lenin from exile
4. Duma handover authority to provisional government
The correct chronological order of the above events will be:

Options:

= 1,2,3,4
o ot A B2
5 % 1,3,4,2
o8 B4
=% 3,1,2,4

Question Number : 139 Question 1d : 347535139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 140 Question Id : 347535140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following territories of former Russian Empire were lost to Germany as part of the peace terms of Brest-
Litovsk freaty (1918)?

Options:
, % Estonia. Lithuania. Poland. Romania. Serbia

5 % Estonia. Lithuania. Poland. Ukraine. Romania
o % Estonia. Lithuania. Poland. Ukraine. Serbia
4 « Finland. Estonia, Lithuania. Poland. Ukraine

= % Lithuania. Poland. Ukraine. Romania. Serbia

Question Number : 140 Question Id : 347535140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 141 Question Id : 347535141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following pairs (Event related to the career of Benito Mussolini — Year);
1. Mussolini became prime minister of Italy — 1920
2. Failed attempt to seize island of Corfu from the Greeks — 1925
3. Conquest of Abyssinia — 1935

Which of the above pairs is/are matched correctly?

Options:

; % Onlyl

» % Only2

» Only 3
4 % land2

c % 2and3



Question Number : 141 Question Id : 347535141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Options:
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Question Number : 142 Question Id : 347535142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the following statements:
1. The Social Democratic Party of Germany (SPD) expelled a large proportion of its parliamentary party for
expressing peace sentiments during the course of First World War.
Many members of Social Democratic Party of Germany (SPD) wanted to fight against Hitler’s rise to power in
1933.
3. The leaders of Social Democratic Party of Germany (SPD) decided that Hitler had come to power
‘constitutionally” and their followers should do nothing.
Which of the above statements is/are true?

| R

Options:
1 % land2

-~ % land3
3 % 2and3

4 ¢ 1,2and 3

= % Only3

Question Number : 142 Question Id : 347535142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 143 Question Id : 347535143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
China was proclaimed republic with Sun Yat-Sen as its president in which of the following year?

Options:
1 % 1909

> « 1911
3 % 1921
4 % 1924
c % 1948

Question Number : 143 Question Id : 347535143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

anfofEa & ¥ &y a¥ 7 =fiw & 50+ Toeufa & §9 H §a499 89 F T ET N
T arar?
Options:

% 1909
» 1911
5 % 1921
L % 1924
¢ % 1948

Question Number : 144 Question 1d : 347535144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
Consider the following two statements in the context of Indonesian Nationalist Movement:
Assertion (A):  Sukarno enjoyed good relations with the Japanese military
commander of Java.
Reason (R): For Indonesian Nationalist leaders. the question of whether to
work with or against outside powers. be they Dutch or Japanese.
was a matter of tactics. not of loyalty to foreign rulers.
On the basis of the above statements it can be concluded that:
Options:
, % Alstrue, Ris false

> % Adis false, R is true

=z % Both A and R is false

4 « Both AandR is true and R is the correct explanation of A

= » Both A and R is true but R is not the correct explanation of A

Question Number : 144 Question 1d : 347535144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 145 Question Id : 347535145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Consider the following two statements in the context of ‘Northaern Expedition” of General Chiang Kai Shek:
Asserfion (A):  The victories of ‘Northern Expedition’ of 1926 were followed by
the crackdown on workers movement by General Chiang Kai
Shek.
Reason (R): The officers of the army were drawn from merchant and
landowning families who profited from the exploitation of
workers and peasants.
On the basis of the above statements it can be concluded that:
Options:
;& A is frue, R is false

» % Als false. Ris true

=z % Both A and R is false

4,  Both Aand R is true and R is the correct explanation of A

= » BothAandR is true but R is not the correct explanation of A

Question Number : 145 Question Id : 347535145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 146 Question Id : 347535146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consider the followimng events in the history of China:
1. End of Long March
2. The defeat of Chinese Communists in Jiangxi
3. Zunyi Confrence
The correct chronological order of the above events will be:
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Question Number : 147 Question Id : 347535147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Sa’ad Jaghlul who espouse the Egyptian nationalist cause in Paris Peace Conference was the leader of which of the
following party?

Options:
, w Bath Party

» » Egyptian Communist Party

= % Muslim Brotherhood

4 % National Democratic Party

=  Wafd Party
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Question Number : 148 Question Id : 347535148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Consider the following events leading to the formation of modern Tuwkey:
1. Armistice of Mudanya
2. Treaty of Lausanne
3. Treaty of Sevres

The correct chronological order of the above events will be:

Options:
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Correct: 2 Wrong: 1



Consider the following two statements:

Assertion (A):  The German big business campaigned vigorously to break the
restraints imposed by the Treaty of Versailles.

Reason (R): Hitler’s victory was a victory of those forces which wanted to
solve the crisis of German capitalism by a policy of military
expansion.

On the basis of the above statements it can be concluded that:
Options:
;] % A is true. R is false

> % Als false. Ris true

=z % Both A and R is false

,  Both Aand R is true and R is the correct explanation of A

= % BothAandR is true but R is not the correct explanation of A
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Correct: 2 Wrong: 1

Consider the following conferences held during the course of Second World War:
1. Potsdam Conference
2. Tehran Conference
3. Yalta Conference

The correct chronological order of the above conferences will be:

Options:
;4 532
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